
©  Playpower inc
hags@hags.com
www.hags.com

Rev: 2

26/10/23MASW77934

Square Trellis & Bottom Plates

51 /

Square Trellis & Bottom Plates
MASW77934



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 2

26/10/23MASW77934

Square Trellis & Bottom Plates

52 /

kg

kg

kg

kg

kg

kg

kg

kg

x

x

x

x

x

x

x

x

1 SW77823 590 x 590 x 11752 23.48

2 8042809 Nut, ISO7042-M8-84 0.01

0.013 8008813 Nut, cage M8-t=1.8-3.28

4 8008502 Screw, ISO7380-1-M8x20-10.94 0.01

5 8008445 Screw, ISO7380-1-M8x30-10.910 0.02

6 8008849
Washer, Bolt cap 9x18x2-
ISO4759-3-C16 0.01

7 SW100130 600 x 300 x602 4.95

8 8008795 Nut, Fujilok-M8-8-RingA22 0.01

S18S17

X

S20S19

1         0,5



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 2

26/10/23MASW77934

Square Trellis & Bottom Plates

53 /

6
x4

x2
5

8
x2

6
x4

5
x28

x2

MASW78930

MASW78939



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 2

26/10/23MASW77934

Square Trellis & Bottom Plates

54 /

x8
3

x8
3



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 2

26/10/23MASW77934

Square Trellis & Bottom Plates

55 /

5
x8

6
x8

x4
6

x4
2

x4
41

x8
6

5
x8

x4
6

x4
2

x4
4

1


